Sheeat No. 2

Problems

1-.For the network in Fig. 1:

a. Determine currents |, and | s and voltage V..
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Fig. 1
Answer: I, =1.64mA, I, =2.86 mA,V, =2.51V

2- Find the indicated currents and voltages for the network in Fig. 2.
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Fig. 2
Answer: I, =4AV,=4.8V,Vs=19.2V,1,=0.84,1, =2.4A



3- Find the indicated currents and voltages for the network in Fig. 3.
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Answer: I, =7.35mA,V;, =19.6V,I, =3 mA
4- Determine Ry for the networksin Fig. 4
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Answer: (a) 18 2 (b) 1502 (c) 12.67 2 (d) 10 2



5- For the network in Fig. 5:
a. Determinethe currentslg, 14, I3, and | 4.
b. Calculate V.

Fig. 5
Answer: I, =5A,1, =1A,I; =4 A1, =05A4,V,. = 10 4,

6- For thenetwork in Fig. 6. Find R4, V1 and V,
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Fig. 6

Answer: Roq = 17412 QV;, = 2011V,V, = 11.89V



7- For thenetwork in Fig. 7. Find I, 14,15 and I,
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Answer:1 =12A,1, =05A4,I =054, 1,, =64

8- For the network in Fig. 8, determine v, and the power absorbed by
the 12 Qresistor.
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Answer:v, =2V,P=1.92W



9- For the network in Fig.9 Find the current, voltage and power

associated with the 20 kQresistor.
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Answer: 120 =0.1 A, Vzo =) kV, on =02 kW
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10- For the network in Fig.10, Find i, through i,
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Fig. 10
Answer:i; = 3.2 4,i, =484, i =244,i, =96 A



